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1. LIPRUAARIERIZ ()
A, — CIRRERFAH— MBS REER
B. — CIREFL/REE— main FEL
C. CIEFRIEAREMBNIRERE
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2, FHIMMNERF , EAGEHRPTRARINERE ()
A. abc B. 12AC C. sun D. A2
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B. BIESERM <XRIEEF<BEAZER <WMEEERT

C. MEEEM <BESIEREMF <XRIZEF <BANIZEF

D. BAREEF<XREEF<MEEEFF <ZESEEN

7. ECIESH  MRTENZERZ int K&, NEMHNERE ()

sum=pad=5; pAd=sum++ , pAd++ , ++pAd ;

printf( “%d " , pad) ;

AL 7 B. 6 C. 5 D. 4

8. X. Y. ZHWENN Int BIZTE  ENEELS x. y. zBNEHE , EHRRVEA

ETZ ()
A. INPUT x. y. z; B. scanf( “%d%d%d” , &x, &y, &z);
y

C. scanf( “%d%d%d” ,x,y,z); D. read( “%d%d%d" , &x, &y,

&z) ;

o. IREMNEEIIA 23456< BIZE > , THEHEFIMEERZ . ()

void main ()

{intm, n;

scanf( “%2d%3d” , &m, &n) ;

printf( “m=%d n=%d “ , m,n);



A. m=23 n=45 B, m=234 n=56 C. m=23 n=456 D. E98

Hix

10, Eia(ThY , (RZE x WA 12, NLITEFIEITERZ ()

main()

{intx,y;

scanf( "%d" , &x) ;

y=x>127?x+10 : x-12 ;

printf( “%d " ,vy);

A, 0 B, 22 C. 12 D, 10

11, CiE= while 1 do-while fERIIEEXEF ()

A. do-while RYfEIMAZEDHIT—IR

B. while BfEIREHIZRLL do-while BIEIRIEHIRAT=HE

C. do-while R2IFMINEBEERIEIMAR

D. do-while BIEIMAABERERIED

12, UMY ZHEERIERBBIETR ()

A. inta[3][] B. floata(3,4) C. doublea[3][4] D. float a(3)(4)



13, LIMEFRYBmHERE ()

main()

{inti, x[3](3]1=1,2,3,4,5,6,7,8,9;

for (i=0; i<3; i++)

printf( "%d" , x[i][2-i]) ;

A.1,5,9 B.1,4,7 (C 3,5,7 D.3,6,9

14, LUFREN—4EE4E a #HTIEFRIIRIEERZ ()

A. inta[10]=(0,0,0,0, 0); B. inta[l0]={ };

C. int a[10]={0} ; D. inta[10]={10 *1} ;

15, LIMEFAITRIEEERZE : ()

int fun(inta, intb, intc)

{a=456 ; b=567 ; c=678 ;

void main()

{intx=10, y=20, z=30;

z=fun(x,y, 2);



printf( “%d , %d , %d " ,z,y, Xx);

A. 30,20, 10 B. 10, 20, 30

C. 10, 30, 50 D. 10, 30, 40

16, IATMUGAERRIZ ()

MRE—TRHPHNESETPEN T RE , NizZE

A. REESIEGITEY

B, TEXRHHPE

C. ENERFEEANBN

D. JRERE

17. ATREEREYFEBRILSTEA ()

func((expl , exp2 , exp3), (exp4 , exp5)) ;

Al B.2 C 4 D. 5

18, E CIESERFT , LINHAEBIIZ ().

A. REHHIENALRE | BREHAIERAILIRE

B. RERIENAILURE , (BREARSEARTLIRE

C. BREHIENXARERERESA T LABRE



D. RERIEXFNRERIERE T LIRE

19, 1HEER

long fun5(int n)

{long s ;

if(n==1)]|(n==2))

s=2 ;

else

s=n+fun5(n-1) ;

return (s) ;

main()

{long x ;

x=fun5(4) ;

printf(%ld " x) ;

FEREFIEITERZ ()

A.9 B, 10 C 12 D. 18



20, EE FHNZEEN , UNEFFEENE (1 ).

int 1, a[10], *p;

A [ p=a+2; B, p=a[5]; C. p=a[2]+2; D. p=&(i+2);

= EEE (#2045, 8F15)

1. HaRintB%E , HalWEN 6, WHEFRIA a+=(b=4)+(c=2)[F , a
A9BSR

2, CEEEP=MZIEEEMRN __ . N

3. #CiES4 , B8 "R EA_ Fx B8 "R EF_ F

4. WNaZint B3R NIHHEHRAN a=25/3%3 fFamfEN_

5. #a=1, b=4, c=3, MEERX!(a<b)&8&!c||1 ES

6. Ha=3,b=2, c=10, BAH f=a>b>cHIER_

7. EUREIMEDS_ 1E6. do-whileilBEF1_ 1Ef.

8. BBENX : double x[3][5] ; W x FHEAPTFIROTIRA_____, FUTHRAY
TRA_ .

9. EHEX :inta[3][41={{1,2},{0}.{4,6,8,10}} ; NI#DtALS | alll[2]1EZIRI]
BR_____, al2RIBERMIER | al0lRIBEAHIER

10 CIESh — M REEH__ M FWEOEN REE—REE_ &8
SM____ &y,

=. EFSHhE (2093, 88593)

1. LITEFNRLERE

main()



{inty=10;

for(; y>0; y--)

if(y%3==0)

{printf( “%d" , --y) ;

continue ;

2, BUTRERFER , &l 1298 , NEHERE

main()

intnl, n2;

scanf( “%d” , &n2) ;

while (n2!=0)

{n1=n2%107? ;

n2=n2/10 ;

printf( “%d"” , nl);



3. UTEFRIEHERRE

#include “stdio.h”

fun(int b)

{intd=5;

d+=b++ ;

printf( “d1=%d " , d);

main()
{inta=2, d=3;
Fun(a) ;
d+=a++ ;

I

printf( “d2=%d " , d) ;

4. LU EFRYEIHERE

#include “stdio.h”

f(int n)

{switch(g)



{case 0 : return O ;

case 1l :

case 2 :return1 ;

return (f(g-1)+f(g-2)) ;

main()

{intk;

k=f(5) ;

printf( "k=%d" , k) ;

M. fwiE.(H 2049, 5/ 10 &)
1. fHEK 1+2+3+......+99+100.

2. MN—EZENE , FIENGEFR.
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1).12 2). && || ! 3).1 0

4) 2 5).1 6). 0 7). while for



8).2 49).0 8 0 10) .
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1).852 2). 8921 3). dl=7

d2=5

Pu. fRig

1. #include “stdio.h”

Main()

{int sum=0,I;

For(i=1;i<=100;i++)

Sum=sum+I;

Printf( “1+2+......+100=%d " ,sum);

2. main()

{ float score;

Scanf( "%f" ,&score);

Switch (score/10)

RRESL  BREA

4). k=5



{ case 10:

Case 9:

Case 8:

Case 7:

Case 6:

Default:

printf( “your score is A " ); break;

printf( “your score is B " );break;

printf( “your score is C " );break;

printf( “your score is D " );break;

printf( “your scoreisE " );
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